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ma Assignment ——

Complete pgs. 261 - 262

Questions 1, 2, 4, 6, 8,
9, 11a, 14ab
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m Solutions -eeseesee———
Multiple Cheice
l. What pointson the @raph of +hi's

uadratic funchion rcEpresent the
1%cation of +he zevros of the funchion?

X~ intercepts located

at ~x=1! and X=8.

CHoTcCk = C

2. Whaot is one of +the factors of
x*=3%X-107?

o= —atat— )
=(’x-5)(xx+2))

CHOTCE 3B
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m Solutions -—,seeee———

4. The rdofs.{'&"o_ +he nearest hundred+h,
OFO?—“'-%)_X +‘X+% ore S

-1 x* +’X +_:L £
2

% Z‘X -‘7 O ( Does 1 o+FQc+0r bu‘i-\}ou_
X*-2x =71 {can comp\eJre the square or ¢
X=9% + "7+ use Hhe Quadratic Formula ).
(’><-=-1)
- = i
___"& | £ \l 3
=|+I% or X=I1-{%
X=3.883 X==1.83
CHOTCE B

6. Determine the roots of each . u.Gd-(“Cﬁ*\.C
equation. T the qyodmﬁc equdtion does
not hove real rooTs,use throph of

the Ccsrrespondmﬁ function T explain-
a) O=%2 ’\h(+6 | ¥ Use can use.
o= =1 Xx-3) ~_any of the 3
L= 'x-"\ or Q=%-3 Q‘\‘hOdS +o
= 3= X ermine t+he

rooJrS
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m Solutions =--———

b) O=2x*~Tx-15 qa=2,b=-1,c=-15
x=-bE\ b*4yac
oXe)
x =12 JENZHRES)

2.02)
X=1fJ49+ 120

L!‘ e
X="1EN169

= 20 = o
i &

¥ =5 xX= =3
2
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Solutions ————sseee———

S. Use the cbuqdrcd'{d ‘ormula To determine
the rootsYof the equation X*+4%-1=0
EXxpress your answers as exactroots
N Simplest radical form,

X*+H4%x-1=0 a=1,b=4,C=-7
x=-b*\{b*>"ac

2Q
x=-23E {40
200

= —H |+ 28
2. o

X=-—dE{44 {We will Stop here for mw}
*

Q. Withoutsclving, determine Hhe noture
of +he roots f&6¢ each quadratic equation.
a) X*+10x +25=0 a=1,b=10,c=25

D=h?-Yac

D= (0)=u)0s)
D= 100 —-10C
D=0

Since D=0, there s AL real Yoot
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Solutions ————sseee———

b) 2x*+%x=5
X4 %X-5=0  a=2,b=),c=-5

fD=b -4 q

D= (1)* 4(2}(—5)
D= Lo
D=4

Since D>0, +here are 2 real roots.

d) 2x*+6 =%
2%x=4xX+6=0 a=2,b=-4,C=6¢

D=b*4ac
D = (-4)*-1(2)6)
D= 1-M8
D= -32.
Since D« Q, There are no reg!l roots.
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Solutions ————sss———

1l. A pepple 1S tossed upward from a

SCCNCP Too\"\ouﬂ- and falls +o the river

below. The a proxxmoJrc heioght h.in
Mmeters, of +he pebble abo e theriver
L Seconds after being tossed 1S
mode led by Fhe func+ion

N(x)= -5t +'10+ +35.

a) Atter how mqr\\(a(seconds does the
ebble hit the Tiver? Cxpress \JOUF

nswer To the nearest Tenth of o
Second

-Stﬁ 10+ +35=0
-2t-1=0 «a=l,b="2,c="1]

x = “bt\l 2 '-%dc

QU)
x= 2:(H+28
e
X= 2EN3D
2
X = 2+\32 or X=2,—{32
Q_ )
% =33 X==LE
Extranecus Root

The pepple hits +he river ofter 3.5S.
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m  Solutions -——ssesee———

4. The parl<s department is planning
a new flower bed. THwillbhe ¥
rec:+qn8u&qr,,w{+h_ dimensions 9m by cm.
The flower bed will be Surrounded by
Q. qrass Strip of constant wid+h with
e Same _area as the flower bed.

j @..e.
F‘S'"i@ ®
@ & @
,1““—‘““—4*—-—-

@

=

al Write o ouodrotic equation o madel
+He sa”ruq-?-tfon. q’, ,

A=00)
2(6)YQ)=(9+2x)(G6+2.x) |
108 = S+ IRXFT 12X+ 4%x2
108 = H4%x2+B30X%X +54
O = 4%*+30X+354-108
O= 4%x*+30Xx-84 a=4,b=30,c=-64

X=~bt \IDE)“-’—%QC
| a
X ==-30 2\ (EOEHH)EEH)
2(4)
X =-30t\ CagQOJr &4
X =~30k 16
S

S |

X= 12, K= =12
1Y e
= _g_ 7 X= -9
2 | v

Extrancous %O"r

The. 8mss Strip will be 3o or 1.85m wide.
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